CCNA1 Module 8 exam picture descriptions

Refer to the exhibit. Forty-eight workstations are connected to a hub

Exhibit shows 48 workstations connected to a 10 Mbps hub.

Exhibited is a portion of ABC Company internetwork.

Exhibit show a network of 4 hosts, 1 hub, a router and a switch. Theye are connected as follows;

2 workstations are connected to the hub, the hub is connected to a router. This is marked as Segment 1. The other side of the  router is connected to the switch, this is marked as segment 2. The switch is also connected to two workstations.  These connections are marked as segment 3 and 4 (one segment to each workstation)

Refer to the exhibit. The switch and the hub have default configurations,

Diagram depics a small network, consisting of 6 workstations, 1 switch, 1 hub and a router. 3 workstations ( named A, B and C) are connected to the switch. The switch is connected to the routers E0 port. The router E1 port connects to the Hub which also has hosts D, E and F connected.

Refer to the exhibit. How many broadcast

Diagram depicts what appears to be a school network. There is a campus router connected to a switch. The switch has a link marked Room 240 that is connected to a hub. This hub is also connected to 2 other hubs (stacked). All hubs have student workstations connected.

End of diagrams

